
SAP ABAP table VWPDEP1 {Securities account position (VWPDEPO) +add. fields}

VWPDEP1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RANL [CHAR (13)]

RLDEPO [CHAR (10)]

RREFKONT [CHAR (8)]

SFIBG [NUMC (4)]

SGLZB [CHAR (4)]

SBILK [CHAR (2)]

SBESANT [CHAR (2)]

SMOVERW [CHAR (2)]

T000

MANDT [CLNT (3)]

 VWPDEP1-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VWPDEP1-BUKRS = T001-BUKRS 
0..N

0..N

T037S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RANTYP [CHAR (1)]

RREFKONT [CHAR (8)]

 VWPDEP1-RREFKONT = T037S-RREFKONT 
0..N

0..N

TW07

MANDT [CLNT (3)]

SGLZB [CHAR (4)]
 VWPDEP1-SGLZB = TW07-SGLZB 0..N

0..N

TW08

MANDT [CLNT (3)]

SFIBG [NUMC (4)]

 VWPDEP1-SFIBG = TW08-SFIBG 
0..N

0..N

TW11

MANDT [CLNT (3)]

SBILK [CHAR (2)]

 VWPDEP1-SBILK = TW11-SBILK 

0..N

0..N

TW50

MANDT [CLNT (3)]

SMOVERW [CHAR (2)]

 VWPDEP1-SMOVERW = TW50-SMOVERW 

0..N

1

TWD01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RLDEPO [CHAR (10)]

 VWPDEP1-RLDEPO = TWD01-RLDEPO 

0..N

1

TZBA

MANDT [CLNT (3)]

SBESANT [CHAR (2)]

 VWPDEP1-SBESANT = TZBA-SBESANT 

0..N

0..N

VWPANLA

MANDT [CLNT (3)]

RANL [CHAR (13)]

 VWPDEP1-RANL = VWPANLA-RANL 

0..N

0..N


